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SEVENTH SEMESTER
INSTRUMENTATION AND CONTROL ENGINEERING

1C 1402 — COMPUTER NETWORK\AND DISTRIBUTED
CONTROL SYSTEMS

{Common to E & I)

(REGULATIONS 2007)
Time : Three hi6urs-._ Maximum : 100 marks

Answer ALL questions.

PART A — (10 x 2 = 20 marks)

1. Compare packet switching and circuit switching.
2. How media is éccessed in token passing?
3. What are routers?
4. Which topologies are popularly used for process control?
5. Define local control unit.

6.  Write the important disadvantage of DDC.



[image: image2.png]10.

11

12.

Sketch the display hierarchy used in DCS.

Write the need for interfacing general purpose compu
to DCS.

Sketch the typical HART signal.

Define interoperability.
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PART B —A5 x 16 = 80 marks)

/
5

Explain the function performed by layers of ISO:
reference model. .
~
Or

@~ How, collision is detected in  CSM:
protocol?

(i) ~Describe the protocols used in TCPAP m

Explain the issues involved in the design of br
from IEEE 802.x to 802.y.

Or

Describe the cabling, topology, frame fo
Encoding technique used in Ett
communication.
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Compare the features of direct digital contrel with
hybrid system architecture.
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Or
Sketch and explain local control unit. )

Describe the architecture of distributed control
system. (10)

Discuss the requirements of operator interface
inDCS. / ®
Sketch any“one configuration of low level
operator interface and write the features of it.
8)

|

i

Or

Sketch é typical plant level and loop level
display in DCS. @)

Explain the features of any one engineering
interface architecture. 8)

Explain the features, communication modes and
message format for HART communication protocol.

Or

Describe the architecture, topology and model of
field bus.




